New Maths GCSE: S4 - Which Number is in the Middle?
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Which number is exactly half way between the other two?

29 B 295

30 B 285
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Which number is exactly half way between the other two?

22 B 215

20.5 B 21

Which number is exactly half way between the other two?

A 15 B 155

16 B 165

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Which number is exactly half way between the other two?

B 26.25 B 26.5

26 B 25.75
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Which number is exactly half way between the other two?

B 8.14 A 85

8 B 835
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Which number is exactly half way between the other two?
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Which number is exactly half way between the other two?
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Which number is exactly half way between the other two?
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Which number is exactly half way between the other two?

A 35 [ I
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-2.5 B -2
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Which number is exactly half way between the other two?

-7 B -35

B -6 B -3

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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